
EJERCICIOS CON INTERVALOS REALES 

 

C = {x/2 ≤ x ≤ 7} = [2,7] 

D = {x/-6 ≤ x ≤ 2} = [-6,2] 

 

 

    

CUD= [-6,7] 

CꓵD= 2 

C-D=(2,7] 

D-C = [-6,2) 

D´ = (-∞,-6)U(2, ∞) 

C´ = (-∞,2)U(7, ∞) 

 



M= {x/-1 ≤ x ≤ 3} = [-1,3] 

P = {x/2 ≤ x ≤ 5} = [2,5] 

 

 

 

MUP= [-1,5] 

MꓵP= [2,3] 

M-P=[-1,2) 

P-M = (3,5] 

M´ = (-∞,-1)U(3, ∞) 

P´ = (-∞,2)U(5, ∞) 

 

 



R = {x/-10 < x ≤ 5} = (-10,5] 

S = {x/-4 ≤ x < 9} = [-4,9) 

 

 

 

RUS= (-10,9) 

RꓵS= [-4,5] 

R-S=(-10,-4) 

S-R = (5,9) 

R´ = (-∞,-10]U(5, ∞) 

S´ = (-∞,-4)U[9, ∞) 

 

 



T = {x/-8 < x ≤ 6} = (-8,6] 

Q = {x/-4 < x < 0} = (-4,0) 

 

 

 

TUQ= [-8,6] 

TꓵQ= (-4,0) 

T-Q=  (-8,-4]U[0, 6] 

Q-T = ɸ 

T´ = (-∞,-8]U(6, ∞) 

Q´ = (-∞,-4]U[0, ∞) 

 

 



A = {x/x ≤ 4} = (-∞ ,4] 

B = {x/1 < x ≤ 6} = (1,6] 

 

 

AUB= (-∞,6] 

AꓵB= (-1,4] 

A-B=(-∞,1] 

B-A = (4,6] 

A´ = (6, ∞) 

B´ = (-∞,1]U(6, ∞) 

 

 

 



D = {x/-5 < x < 3} = (-5,3) 

F = {x/-1 < x } = (-1, ∞) 

 

 

 

DUF= (-5, ∞) 

DꓵF= (-1,3) 

D-F=(-5,-1] 

F-D = [3, ∞) 

D´ = (-∞,-5]U[3, ∞) 

F´ = (-∞,-1] 

 

 

 



G = {x/-7 < x < 5} = (-7,5) 

H = {x/-7 < x< -2} = (-7,-2) 

 

 

 

GUH= (-7,5) 

GꓵH= (-7,1) 

G-H=[1,5) 

H-G = ɸ 

G´ = (-∞,-7]U[5, ∞) 

H´ = (-∞,-7]U[1, ∞) 

 

 

 



J = {x/-3 < x ≤ 0} = (-3,0] 

K= {x/2 ≤ x <7} = [2,7) 

 

 

 

JUK= (-3,0]U[2,7) 

JꓵK= ɸ 

J-K=(-3,0] 

K-J = [2,7) 

J´ = (-∞,-3]U(0, ∞) 

K´ = (-∞,2)U(7, ∞) 

 

 



T = {x/-8 < x ≤ 6} 

Q = {x/-4 < x 0} 

 

 


